
Löse die folgenden Gleichungen (grundlegend) 
 
 
3 x – 4 = 2 
 
 
 
 
 
 
 
 
 

Probe: 

3 x + 8 = 32 
 
 
 
 
 
 
 
 
 

Probe: 

4 = 4 x – 36 
 
 
 
 
 
 
 
 
 

Probe: 

3 x + 5 = 14 
 
 
 
 
 
 
 
 
 

Probe: 

5 x + 10 = 10 
 
 
 
 
 
 
 
 
 

Probe: 

 
 



Lösungen: 
 
3 x – 4 = 2 
 
x = 2 
 

Probe: 
 
2 = 2 
 

3 x + 8 = 32 
 
x = 8 
 

Probe: 
 
32 = 32 
 

4 = 4 x – 36 
 
x = 10 
 

Probe: 
 
4 = 4 
 

3 x + 5 = 14 
 
x = 3 
 

Probe: 
 
14 = 14 
 

5 x + 10 = 10 
 
x = 0 
 

Probe: 
 
10 = 10 
 

 
 
 


